HAHE :2023.4.12 15:01

AR8EOP TR= ]

BEEAE A B :20234E04 4 120 (OK)

S R 0.5 RN T CHEPES. 0 &LPE18.0 FLA—: oUT1 2 4 7 8 9
IN11 12 13 16 17 18
RS IRES YT AaT Ay k=3
i =—=  :0UT IN Z PN~ D BMea N SN AEFT2A
NEN PE ST v ko
WAL | 2N K4 OUT | IN |GROSS| HDCP | NET |ocrossi f#5 NERE | BN K4 OUT | IN |GROSS| HDCP | NET |crossiiic %

180 BEk 38 38| 3.6 |34.4 51|21 Fk— 44 44| 6.0 |38.0
ARERE S 43 43| 8.4 |34.6 52 R HJI T 44 44| 6.0 |38.0
3k RS 42 42] 7.2 |34.8 3R XXH 50 50/12.0 |38.0
480 3k 42 42| 7.2 |34.8 54 [ fifl =T 49 49/ 10.8 | 38.2
5\ FHIA i 41 41] 6.0 | 35.0 55/ H i) 47 47| 8.4 |38.6
6 |ERE s 41 41] 6.0 | 35.0 56| FTRE 53 53| 14.4 |38.6
TIHH A 41 41 6.0 |35.0 57| M ] 41 410 2.4 |38.6
8I8aAK 1% 46 46| 10.8 |35.2 58 A M 46 46| 7.2 138.8
9|AER FENE 39 39| 3.6 |35.4 59| i FEEL 1 46 46| 7.2 |38.8
LS N 45 45| 9.6 |35.4 60| KEH 3k 46 46| 7.2 |38.8
11 |FrEs &2 39 39/ 3.6 |35.4 61| AKFS E1 46 46| 7.2 |38.8
12| 2R +EER 45 45| 9.6 |35.4 62 3 R 45 45| 6.0 [39.0
13 [ A J5HI 44 44| 8.4 | 35.6 63| FAH FI K 45 45/ 6.0 139.0
14| =8 08 44 44| 8.4 |35.6 64 | ffi il #5E 51 51/12.0 [39.0
15| K& Hik 37 37 1.2 |35.8 65 B Kk 51 51/ 12.0 |39.0
16| "HFF #1417 43 43| 7.2 |35.8 66|16 & B 51 51/12.0 [39.0
L7 R 3% — 49 49]13.2 | 35.8 67 s 555 42 42| 2.4 139.6
18| 5L 42 42| 6.0 |36.0 68 5B i 47 47| 7.2 139.8
19|22 B[ BAT 42 42| 6.0 136.0 69|/ AT 52 52/ 12.0 |40.0
20114+ B 35 35[-1.2 [36.2 70 B B 51 51]/10.8 [40.2
21 SR sE— 41 41| 4.8 |36.2 T18/% BH— 49 49| 8.4 140.6
22| 41 41| 4.8 [36.2 721N 52 52/ 10.8 |41.2
23|80 K PR 40 40| 3.6 |36.4
24| IKF Fljek 46 46| 9.6 |36.4
25 |1 1THE 39 39| 2.4 [36.6
26 [ FHBE [EM 39 39| 2.4 [36.6
27\ RH P56 39 39| 2.4 |36.6
28| % B 45 45| 8.4 |36.6
29 /NI 45 45| 8.4 |36.6
30/fiE b1 44 44| 7.2 |36.8
31 AT ik 43 43| 6.0 |37.0
32| =R FnEA 43 43| 6.0 |37.0
33BN JE 43 43| 6.0 [37.0
4| H EZ 43 43| 6.0 [37.0
35 #HA R 43 43| 6.0 |37.0
36 |5 % 43 43| 6.0 [37.0
37T/ME BHHA 43 43| 6.0 |37.0
38|E T ik 42 42| 4.8 [37.2
39PN FAT 48 48] 10.8 [37.2
40 "B R A& 42 42| 4.8 |37.2
BINER 3 42 42| 4.8 [37.2
42|FH BR 47 47| 9.6 |37.4
43 1431 SCHE 46 46| 8.4 |37.6
44| g =— 52 52| 14.4 37.6
45 | FKJE TR 39 39 1.2 |37.8
46 | ELHR HESE 45 45| 7.2 [37.8
47K BR 45 45| 7.2 137.8
48 |8y BHE 51 51/ 13.2 |37.8
49|E)1] S 45 45| 7.2 |37.8
50[ (LI H&Z 51 51/13.2 |37.8

1/ 1 HLENRRAET LB



